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Section A (28 x 2 maiks = 56 masks)

For each question from 1 to 28, fowopﬁomaregiven.Oneofmmismeconectansww

Wake your choice U, 2, 3 or 4), Shade the comect oval {1, 2, 3 or 4) on the Optical
Sheet provided.

Angwet

1, Which slatementsm true for alt insects?

A meyimewings.

8 They have feslors.

¢ Theyfiavetmebodypaﬂs
D They have tiwee palrs of legs,

A and B only
Aand D only
B and C only
C and D only

2. The diagram below shows the human digestive system.

Which of the following paris correctly matches iis function?

1
(2)
(3)
(4

[ Part of digestive systom-

__Function
mibxss food with dinastive Julces

_paifially breaks down jood

abgorbs water from undigested food

' u}o o>

absorbs digested f0od o the bicodstream
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3. The diagram below shaws the ife cycle of a mosquito.

mwMBamhmMﬁommwﬂoasmmnsandmncam
lnotprmiaiWNdmfﬂwfoﬂowlngbmosteﬁthelnprevenﬂngha ,
"outbreak of dengue fever?

{1)  Use insect repelient.

@) Add ol fo stagnarif water.

ﬂ Place mosquilo nets around the sieeping area.

(4) Awoid areas where thers are cases of dehgué oulbreaks.

. ‘The diagram below shows the itfe cycle of a plant.

Which of the following about the ila cycle of this plantls false ?

{1)  Thelife cycle of this plant has three stages.

{2) Every seed of this pland bas #1is same life cydle.

(3)  Sunlight s neaded at every siage of this plant's Jife cycle.
{4) Thelife cycle of this planf ensure thaoonﬁnﬁlyof its kind.
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5. Four different cells were observed under a mitroscope. The observalions were
recorded in the table below,

¥

CellWall | Celi Membrana ”"‘3"” Chioropiasi
A
P v

v

zie/mm £
PN

Which of the following slstements are cosrect?

A CellH cannot reproduce.

B CaB G is the only an¥nal cell.

C Colls E and F are plant cells.

D Celis E and F come from leaves.

(1) AandConly
{z) BandDonly
(3) A CandDonly
(4  B,CandDonly

8. Which of the following characteristics can be passed on from parents fo their
offepring?

A Ability to sing

B Type of eyeld

C Type of earlobe

D Ability to roff longue

(1) AandDonly
{2) BendConly
(3 A BandConly
{4) B,CandDonly
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7. Imran removed an outer ring of @ stem from a plant s shown below. He left the
plant under sunfight and gave it equal amounts of water dally. After a few days,he
observed soms swelllng at peirt X of the stem as shown in the diagram below.

Based onthe gbservation, which of the following statement(s) Hma false?

A Water was accurmulated at past X.
B8 Food-camying tubes were ramoved from part Y.
C Food can be transported io the parts below part Y.
D Water cannot be transporied to all parts of the plant.
{1y Bonk
(2) AandBonly
(3 C and D only
{4) A, C.and D only

8. ‘Which of the following comrectly shows the path of carbon dioxide before a person
breathes out hrough the nose?

(1) windpipe > air sacs In lungs -> blood vessels
{2) blood vessols -> windpipe > ali sacs in fungs
(3) airsacs inlungs - bibad veseels - windpipe
{4) Dblood vessels > air sacs in jupgs > windpipe
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9. The diagram below shows ths directioh of blood flow in some parts of the human

body. .
all otherbody parts  fe
c hngs A D
Al B
heart
Which of the following comrectly desciibes the amount of carbon dioxide In the blood
at A, B,Cand D?
nt of carbon dioxide |  Low amourit of carbon dioxide
(1) AendB _ CandD
2) Aand C BandD_
(3) BandC Aand D
{#) Band D AandC

10. The diagram below shows how the different systems in the human body work
together.

upper
body
. 4 -  oxygen
» ¢ resplratory
¥ Z
lower
body
What are substance Y, gas Z and systems W and X?
System W__ | System X Y Z
(1) |__ciculatory stive - | digested food nitrogen __
{2) | _digestive circulatory digested food carbon dioxide
{3) digestive muscular water carbon dioxide
@ muscular digestive waler nitrogen
8
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Which of the following shows the correct order of the development?

(1) B2DYAC

)} CFADDDB
ﬂ B3D>CIA
{4 A>C>D->B

12. Study the diagram below.

adult plant |

T

. Q flower
process\ : /ecess R
| seed * s
- Which of the following is comect?

[ ProsessP | G ] ProvessR 5 __
3) | _pollnation | st | Terjsabon |  seediing
2) ferflisation seedling | germination Tt
3). 1 _permingtion | “seedling | fetilisation it

(8) {germination

pollination
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13, mm-bmﬂwM‘mﬂ.ch are located and the distribution
of thelk dieporsed seeds, .

' Legend

alseed of plant A
b:seed of plant B
cteeed of plantC |

Which of the following matches the distribution of frult / seed of planis A, B and C
shown abova?

Froit] Seed of
B [
m$m o hard and dry pod
ardand drypod | wingHike struchwe
ird and dry bod fibrous husk

14. Vasaciomy i3 a surgical procedure where the tubes in the male reproductive.
systemuawtrﬂﬂedasstmmhﬂwdamAsaresuﬂ.ﬂmaduﬂmabbmt
able to reproduce.

cut and tied

Which of the following best explains why the adult male is unable to reproduce
afier a vaseclonmy?

(1) - Allof i sporme have died.
(2) Sperms can no longer be produced by the tesies.

(3) Spems cannot travel from the testes 16 the penis.
(4) The egp cannot travel from the pents to the lestes.
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§. The classification charl below shows how some objecls ‘are grouped info two

groups X and Y.
objects
]
: - 1
hegding X heading Y
Iron bar copper coin
nickel coln aluminjum bar
steel ruler sivar ring
Whm:.ifmefom;ism?
m - mtﬂexible
23 mdaﬁams_gr;mataials _ miade from bard ma
©) [ conducleref nﬂa@netorofemly
{9 {canbe aitmcted 1o megnet__ “Gannpt be afiracted t magnet
6. Study the table below.
Object S Object T
, [
7 7
What could objects S and T most Jikely be?
| T OblectS “Object T
5} N —__ ner
24 _gass _plasticheg
B . ovgen - ‘book _
) {_ __palnt "~ carbon dioxide
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7. The diagram below shows the armangement of five magnets.
7 A ﬁ - J

B E "|F A
C D G Hi

thhoimfouowmamispoesbb?

{) @
A B
m [ ®
C D
J i
3 )
El8
A B
] J
FIH

10
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18,

18.

mwpbmdanmwmammammdoﬁﬁmumwﬂmatenabp
Q and R, The. ends of these materials wers glued fogsther as shown below. He
then tried 1o use a bar magnet to move the tron ball forward from peint A to D.
However, the iron-bell came to a siop st point C.

D

>
1)
2]

Y

[T)—

What could materials P, Q and R most likely be?

P —a R
Y Gerpmic cobak _ nicket
(2} | cobailt “aluminium subber
3 _nicke) cobalt ceramic__
(#{____ auminiom rubber nlckel

The school dendal riurse uses a tool called the moummmrtohelp her exeming
the toettt inthainnermuﬂaofthestudsnts.

mwmmmmmmmnm is able to see the testhin
the inner mouth of the students?

{4)  The mouth iniitor absorbs light from.ihe ieeth.
{2)  The mouth mimor allows #ght from the fe€th I pass trough.
The mouth mitror shines light onto 1he teeth for the dental nurse o see.

8)
14) ‘I'hamouﬂzninorreﬂacls ﬂyﬂﬁomﬂ:eieslhformedemal nureelosea .

1

www.testpapersfree.com



20. Karen measured the length of the shadow of a free as shown below.

She reconded the length of the shadow of the tree at different times of the day in a
graph. Which of the following correctly shows her graph?

N : (2)
Ef £4
3 3
2 8
ﬁ &

) b

8am 12pm 2pin_ 4pin

W

<
Lo
B

B
e

W

length of shadow {m}

length of shadow (m)

8am 1Dam 12pm 2pm_4pm

8am 10am 1

12
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a T s e oy S e e ) S

sheps A shape B
" Tha shapes were then amanged al posiion S and T between a # torch and a

screen.
1 torchi
. -~
_ - 3 : l-__--
B '\

The foowing shadows were obeerved on the screen.

sgreen

Based an the shadows on the screen, what materiels could shepes A and B be
made of?

(1 | solidwood “soBd wood _

2) sobdwood | frosiedginss

p——

13
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22. Which of the following methods will enable a glass of chocolate drink 1o be cooled

B Rach e gacs wih ameta
€ Wtap adrytowel around the glass.
D Sirthechotolaté diink with 8 wooden spoon.

(1)  AsndConly
) AandDonly
{3) BaniCony

(4) . BandDony

23. The graph below shows the changes in temperatire of matedals P and Q when
they are cooled over a period of ime.

temperature (°C)

§P
Q
s time (s)

Based on the graph, which of the materiakg) P and/or Q is/are suitable for makinp
part X and Y of the cooking pol shown below?
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g |

.«°-N!I'I

Y

Bassdmﬂnabwedmﬂ.whatisﬂla!eastmmberufsmkﬂes)mmm
closad in order 1o ensure that bulbs A and C light up?

(1)

Sally set up a circult with four idenfical bulbs E, F, G and H. She also connected

two different materials J and K fo the circuit ae shown below.

When the switch was cipsed; she noticed that enly bulbs E, F and H it up. What

15

1) |
2
3

covld materials J and K be?
Ve 1 WaialK_
peper | @ paper
15
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26. The table below shows the melting and: boiling points of jour substances A, B, C

and b,
Siibetance | Meliing Polt {°C) | Boiling Polnt £°C)
A 63 267
B 15 84
.G 80 ' 2300
D 5 1. 30

Which of the following substances A, B, C and D can be siored in a netted basket
&8 shown below at room temperature?

1 AandC
2 Bembony
{3) A, C and Donly
4) B, C and D only

27. Ann set up four experimenis P, Q, R and S by pouring water into containers made
of the same material. The table below shows the different conditions at the start of
sach experiment.

Experiments
P Q R 8
| Yeraperature of room {*C) _ 35 35 20 20
Exposed surface area of water (cm?) 120 50 50 120
Presence of wind yes no yos

Which set-up will have the lsast amount of water lsft st the end of the day?

m P
@ Q
@& R
M S

28. Which of the following actions heip in water conservation?

A Collact rainwater to water the plants.

B Take cold showers Instead of hot ones.

C Pouraway stagnant water found in containers. -
D Use water from washing clothes to fiush the toilet.

1)) A and Bonly
) A and D only
3 8 and C only
{4) C end D only

END OF BOOKLET A
6
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e ction B 148 |
Fﬁrmﬂﬁﬁ;l!#ﬁh4{mmmahﬂﬁsbmm1h&mgdmamﬂabh
1 shown i itie brackets at fhe end of each guestion or part question.
20, Japice wanis fo inviisligate the disis of a duck and an eagle. She keeps a duck and
- m@iﬁ%m?ﬂﬂ sspeciively. She feeds.each of them with
20D g.of wosms, 200 g.of ficé gréins, 200 of apples and 500 mi of water.

mmbdawmmemmwom.mmmmdappbsnmway.

- e e ey

{iaass (o)

’ =
T pduck

1. eagle

{8) Explain wheiher Janice's experiment s fair for comparison. m

- {b) m&mwmmmmﬁedm7ﬁmﬂnm 1)
. answer.

{e) Dolhe duick and the eagle belong fo the same animal group? Explain
YOUr answer. .
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30, John conducted an éxpetiment with the sst-up shown below. A mbdure of sand and
witer wag poured over material X that was placed inside.a funpel. After 3 hours, he
ricticed Biak only watar was collecied in the container.

—— mixiure of sand and water

sand
funpel
retort after
stand Fhows some
water
f = cortver colected
(a} Whatls the function of material X In the above set-up? 1]
(b) Siate the part of a cell that has the sams function as material X, 1]

(c) From which plant parts P, Q or R, was ceB E taken from? Explain your
answer. ‘ [k}
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831. {a) Statethe function of the human respiratory system. i)

The diagram below shows the magrified view of the alr sacs found in

air sacs inthe lungs

b} Medical reports stale that smokers have smaller air sacs as compared to
non-smokers. As a result, their breathing rates are atways higher than
non-siokers when doing the same set of prolonged strenuous exercise.
Explain why. | 2t
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32 The table below shows the chardcterisiics of flowers and thelr poliination methods.

(a) List any o characterisiics of o flower hatis poliated by wind. {1

(b) Based on the table above, can bats poliinate the flowers polinated by
bees? Explain your answer, ]

Plant Q produces male and female flowers on different branches. The
diagram below shows a male flower of plant Q.

made flower of plant Q

(c) Cardysaysmmncmmﬁpmasnwﬂowersmmtba
polinated, Do you agree with Candy? Explainh your answer. [2]
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. The diagram below shows soms seets and/or frults.

(a) Explain how seed Q is dispersed. | ™

Thalablebeluwshmmeeﬂedefwhdspeedonthedistammeﬂedby
futPand R

Wind Speed Dkia’nce travelled by seed/rult (m)
eth) | g P : R
5 j _ 5 ] . DB
10 ‘ 100 ' ' 0
15 I 153 1 4]
(b) What Is the relationship belween the wind speed and the distance

Travelied by frukt P. | 1)

{c) Based on, your answer in {b), exphin 'how this relaﬂonshlp is an
advantage for fruit P. . M
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34, The diagram below shows a plani and a human male reproductive system.,

plant reproductive system human male reproductive system

(a) Name the part of the human femalo reproductive system that has the
same function as past R. (1

(b) Explain why having two of part Y of the human male reproductive system []
is an advantage for reproduction process.
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35. Gahin placed Joads of 3-Xg in set:ip A shown below. He recorded the maxiinum
number of 1-kp loads added that caused the rope 1o break. He repeated the
experiment wilh set-ups B and C psing ropes of the sammawr_ialbutofdﬂiem
Mickness. Thetable below shows his results.

é“ kg Joad
sol-up A
Setup Thickness of 1 Maximum number-of
ropo(uniis) . 1-kg loads added
A ' 1 3
B 2 8
L c ' 3 10
{a) Whatwas Cain'e aiim of the experiment? . T

{b) - Tick{¥) the variable{s) thai must be kept the same for this experiment 1o
be fa_ﬁ’. l.‘}

. Variable Tobe kepl-iho-same ;

Length of rope | -

Material of ropa . |

] Thickress of rope

1 Numberofikg
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38. Peiry filed a Jar 16 its biim with idenfical marbies as shown below,

He concliided that the volumeé of the marbles Is the same as the volume of the far.

{a) Do youagree with Periy? Explain your answer. ‘ 2

Penry then prepared two containers X and Y as shown below. He poured all
the sand from container X to contalner Y.

He observed that the sand took the shape of container Y as well.

(b) Therefors, Pehly congluded that sand has no definite shape. Do you
agres with Perry? Explain your answer. 11
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37, Halim conducled an experiment as shown below.

foisd | O
point  spiing mx iron rod O/

Yom
When the switch was closad, distance Y increased.

{a) Basadunthaabmobsewatbn,whalcanbeoonch:dedaboumetalm
Explain your answer. {2}

-He then increased the pumber of colls: of wire around the iron rod and
repeated the experiment. -

(b) On the graph below, draw one. straight Bne to show the relationship
between the nurnber of coils and distance ¥, gl

Y (fm)

]

~+—3—4—4—+—+ Numberofcolls
40 20 30 40 50 60 '

10
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Halim then sels up a systsm made up of wo circuits G and H. Before the
mhfm.mmmmmmmmmerm.mmm

fixed copper rod circoit H
(fixed to steel rod)
wire colled around
a fixed on rod
fixed iron rod fixed point

i
\r - steel rod
i (can swing about P)

cireuit 6
! 1|+

When the ewilch In ckcult G is closed, the bulb in circuit H lights up.
(c) Explain how did the bulb light up. [2]

11
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33. Wayang Kullt i a vesy popalar Indonesjan pupgiet show involving shadows. The
audience walch these shaws st night. The diagram below shows how the shadow of
a puppet Is created on the screen for the audience to watch.

{a) - Give one example of a light source thet can be used in Wayang Kulit. 10!

{b) Withowt using a bigger puppet, how do the puppeteer make the shadow [1]
. appear bipger to the audience?

{c)'"Explalnhowthashadawdmepuppetlsfomedonihesweenfmme | 4]
atdience io watch the show. i

12
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30. Three similar rod¢ made of metals X, Y and Z were heated for 30 minutes. The

fengths of each rod bisfore and after the heating are recorded in the tabie below.

[ e | Length before. Length after
__rod heafing (mm) heating (mm)
: X 100 105
Y 100 114
z 100 108

(a) Based on the results above, state one effect of heating on the metal
. rods? ).

The metal rods were then lefl 1o cool. The fime taken for each rod fo reach
room &mperature Is shown In the table below.

; Time taken to reach
Motal rod room temiperature (s)
X ‘ 150
Y -, 50
z 80

(b) Based on the table above, what is the refationship between the heat
conductivily of metals and the length of the metal rods after heating? 4]

A metal bridge has gaps al its ends as shown below.
metal bridge

-
e e e e e

{c) What wouki happen to the size of the gaps on a sunny day? Explain
YOUr answer, 74}

13
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4p. Jonathan set up choult A as shown below. Afl electrical components are In good

—
(!\ !
| -

. cicuit A

" When the switch was closed; the bulb & up. He measured the brightness of the

bulb using a Mgt sensor. He then added ancther baltery In serfes and measured

the brighiness of the bulb agaln. He repeated the experimont using different

nbntwd&brbshseﬁeswmrdedﬂamﬂtshﬂlelabbbebw
Nmnhaofhmmmm Brightness of bulb Im Hs)

900
X
1800
B
0

diﬂ\-h-m»-—n

{8) Mamlbbmdimfarm brightness of the bulb when three
‘batteries connected In series were used. )

{b) Giveapossbbmasonforﬂn reading when more than 4 batteries in
series were connected o the circuft. 1

Jonathan wants to add another bulb 1o circuit A such that both bulbs have equal

{c) Mon!ycmnsymbols complete the circuit given below 1o show that
as described.

$\ it

2o

1

14
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41. The table below shows the véalher conditions on four different days.

@ _Woealher_ Presence ofwind |  Humidify level
DY o = o
T2 [ . sunpy yes Jow
3 stipny no high

4 L toudy o __low

(a) Muthu thinks that the presence of wind speeds up the rate of evaporation
of water. Do you agree with him7 Explain your answer. [

(b) Onwhich day would a wet towel hung out In the open dry the fastest? ()

Every moming around 7 a.m., Muthu observes that his car Is covened with tiny
waterdﬁpletsalﬂxoughhd@dnﬂrahlhenblﬂbefore.

{c) () Explain how the fily water droplets were formed on Muthu's car. 2

() Muthw's friend, Semy, also drives to work at 7 a.m. daily. Give a
possibla reason why hls car was not covered with tiny water droplets )

like Muthu's.

END OF PAPER

15
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Q29. a) Yes, it is falr, There is only one changed variable, which is the type of aniinal,

The Eagle feeds on worms. Only the nusnber of worms decreascd.
Yes. Both have feathers, a beak and they lay eggs.

To allow only water to pass throngh.

Cell membrane.

Part R. The hairlike structures of cell B allows it to sbsorb more water from
the surrounding soil.

Tndh-hmmbndytomguuﬂthtbemwnﬂngm.

The smaller air sacs in the smokers’ lnngs in smaller surface area for for
the amokers have to hreath faster to take in more oxygen and remove more
carbon dioxide.

The flower is énll-coloured, has no scent, it can boom anytime and i does

not produce any neciar.

b)

o}

b}
c)

mwmmummmwwmmmhme
u».xm.rm-m;,ﬂ.»mmmwmmmm :
female flowers at plant Q whete poilen grains om the body of pollinators can
stick to the stigmae of the female flower to pollinate it:

Seed Q is dispersed by wind, It has feathery-like structure,
mmmmmmmmmww&ma
Mpmmmmmmmmumw '
bmmmwmdﬁﬂtrmm“m,mmdmﬁmu.
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Q34, 3) Womb. _ .
b} ‘When one of Y, which is the testis is not functioning, the other testls can siil]
mwuphmmwnmtommmeﬂ

hmtom
Q35. 5) Tofind out if the thickness of a rope affect its strength.
B - )
7

Q36. a) mmmmwwmmmwnmathpmuu
moze than the volume of the marbles.
. B)  No. Ench grain ol suxii is a solid -a-.nmmum.m

Q37. a) xhawmmmmammmw
' to magaetise the iron rod sud bocome an eloctromaginet. The like poles of both the
slectromagnet to and metal X are facing cach othex heace they ropdl,incronsing
distance Y.
b)

Y (cm)

F 3

[ P R

©) mmmamaum&,mn&m-nw ;
and xtiracted the steel zod. 1t will touch the fixed ‘copper rod. As cooper and .
‘skisél nie'both conductors of sleciricity, hencs ciriult it js closied and the bulb |
cam Hght mp. ;

Q38. a} it torch.
b) .Mihmmdnmhmmmm :
<) ﬁh“%iﬂﬂﬂ&tmwhawmwanm“
' oum-mkmm"mmitmmmmum-m
shwoﬂmthemum;eophbwmmm
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Q41. a)

b)
<}

mmmmmummmmmam
metal o sfter hexiing,

mwmmmmmﬁ-mmmm
siitfoniithigs expands. Hence more space is oconpled.

1000

cannot flow through, resulting in a reading of 0.

4\ Ll
&

I

\
[

)

Yes. Wind will speed up the mate of evaporation as it will aliow the water to

gain heat faster to cvaporate faster from the wazmer sursounding air.

Day 2.

1] Water from the gronnd gained heat from the warmer surroundings and
mmmwmmwmhmammﬁn’-
cooler car and lose heat to it and condense to form water droplets,

{§) Tt was covered with a cloth.
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